
COMMUTER / URBAN | U013-01
REVISION 00 |  11.09.2018

1

7

7

2

9

24 25

8

8

56 8

24

18

26

28

18

11

10

23

27

19

24

2522
2822

19
25

22

25

2426 24

17

16
43

15

14

13

22

13

14

29

29

30

30

31

21

20

12

POS-NR.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

10002921

167698

154652

100031

100057

140304

140305

140306

158217

105475

105474

105473

116776

164523

164524

104643

104644

104751

104752

140662

104753

104755

140307

159953

121939

CANYON# NAME

Eccentric Bottom Bracket

Screw for bottom bracket

Screw

Flat washer

Hose guide

Cover plug

Cable clip

Blind plug

Plug for BR/RD/E-Wire

Plug for E-Wire

Plug for BR and RD

Topcap Clamp

HS upper cup

HS upper bearing

HS compression ring

Mudguard RW

Mudguard FW

Rear stays

Front stays

FEND wing carrier stay L

FEND wing carrier stay L

Distant spacer fender

Distant spacer fender

Screw

Screw

Screw

Screw

Locknut

Blind plug

Grommet 6/9 wingee fender

washer

E496-16

M6x20 ISO 4762

M6x12 ISO 7380

ISO 7089/7091

E389-16

EP0681-01

M5 E40-10

E497-16

E498-16

E515-16

EP0682-01

1 1/8

1 1/8

1 1/8

M5/5mm

M5/25mm

M5x12 ISO 7984

M5x16 ISO 7984

M5x18

M5x35

ISO 7984

ISO 7984

M5 ISO 7042

E525-16

6x12x1 DIN988

QTY.

1

2

1

1

1

1

2

4

1

1

1

1

3

3

1

1

1

2

2

1

1

4

1

6

4

2

1

4

4

2

1


